4% #8 / External View

XIL—277% L / Without roof unit

0
n

{

g
|
|
|
|
|
|
|
I

FAFA FALFALF

f
e

AL FAL PR PP

||__J't__l'=

{

L
|
|
|
|
|
|
|
|

FA AL F

oo
S W

380

L FA PP P

[=

}__Ill__l

A

|
A

B AZ / Components [ (x®&2 : TY-34)2008.02.08
No. % / Part name ¥}E / Pcs & / Material . xmEMNHE / Color- Finish
1 by THX— / Top cover 1 ABSEtRE / ABS AJ{NT V- / White gray
A UB-m%-h / Polycarbonate |#EBA / Transparenf
2 |K7+— / Base 1 ABSEtRE / ABS AJ4NT V- / White gray
3 |[W—7 / Roof 1 me/ PVC AD4NT b=/ White gray
NN W= W= NN NN =W L 1T Ay + / Gasket 1 AY7b3y / Polyurethane 73v) / Black
5 |7y # / Lafch 2 3702 / Stainless steel #AL1E / Unfinished
A o " 6 [Eff~X—2BEAMS x 10) L S = {703~
= 2 Screw(M5 - 10) Steel Trivalent chromate
L _nn.\ T7=-NTWw7—% / Technical Data
U o FU— U REEMH / Protection class IP65
\ EARE®E / Operating temperature | -10C ~ +60C
450 WM 7 7 A / Flammability class UL94LHB
402 160 2
380
365 IEL
25x5= 125 75 25x5= 125
° L L
'S j yamuilalEEE R I\IJI\_IHIJI\_III 11 TR R T T 1 | i AT
===——==== i =Rl - &)

_ r- ;k‘yf\ m M MDD DD m M MDD MDD f\cul |
| \ _HJn f I r:) Y U YU U WU v Y U WU WU WU v \j\ | |
| Ln ;l W A | |
| G =] © & |
} g m [ -~ |

" o =t NP} NV, | |
| 3 [ = | © & | A
| o il I - |
2192 | L YW = 2 )T S5 H
AN o I == Ny == Hi
| |_>r<'\ A =i Pan) Pan) i |
| ~ ;J" zl O \\ | |
| | 0 =1 @ o H

| o i & |
| I E ;l A\ & | |
I I b zl & ® I I
ﬁ\ L o in i@:_u_i_"_i_u_\i ML L’_\Li_\’_i_\’_i@‘ |

\9/ \ J° ~\ I G || . II{O_}II 11 |
\ &-M5474-Nvh
4-M5 Insert nut
5 °
30 50.5
= [ Fe——————— l BAKEERED) / Color TypelEnd of product numberO)
tn Y = Y ® E 2 / Code by 77 /N— / Top cover 74 — / Base
G R74 b7 L — / White gray |£74 L — / White gray
S T #EBR / Transparent £74 70— / White gray
pl = 2% /Title N—
°° RASHS D FEMIE B K BHEE L — 7 ft ABST 5K 93 O L]
S Y e e e e e e e e e e e Y TAKACHI ELECTRONICS ENCLOSURE Co., LTD. IP65 ABS PLASTIC BOX with OUTDOOR ROOF
L ~M54YH-ryh &R /Approved | ¥ /Checked | #E/Created [&% /Product number RE/SCH[&}S
L-M5 Insert nut 426 BCAR3545160 .
IR iR ) 1/ 2
fEfB /Date  2021/03/03




RfR / Internal View

XRRIZIFIL—TEFHFTOERA,
Drawing does not include roof unit.

350

BI~E /Max dim. 142.6

T 14— (HR)
Base (Internal View)

7 N\
"anY Fan)
Y fan
4 \J

AN
- —— —— "
T3 o ¥

A~TZE /Max dim.

LALT

\ &-M54U8-KFuh

4-M5 Insert nut

B~HE /Max dim. 308.7

L =M51Y4-Moh

4-M5 Insert nut

713— (AfR)

Cover (Internal View)

[(x®m&= : TY-34)2008.02.08

10

BALH S HFEHTE

TAKACHI ELECTRONICS ENCLOSURE Co., LTD.

&% /Title
R K -BHEE IV — 7 £ ABST 548" vI3

IP65 ABS PLASTIC BOX with OUTDOOR ROOF

O ]

&R/ Approved

PR

&M /Checked

IR

8 /Created

/,

o

#1% /Product number
BCAR354516G/BCAR354516T

RE /Scale
1:4.5

{ER B /Date 2021703703

2/ 2




	BCAR354516 Model (1).pdf
	BCAR354516 Model (2).pdf

